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Задание №L2_02

Вы  услышите  диалог. Определите,  какие  из  приведённых  утверждений  А–G  соответствуют
содержанию текста (1 – True), какие не соответствуют (2 – False) и о чём в тексте не сказано, то
есть  на  основании  текста  нельзя  дать  ни  положительного,  ни  отрицательного  ответа
(3  – Not stated).  Занесите номер выбранного Вами варианта ответа в таблицу. Вы услышите
запись дважды. 

 A. Toni informs Bill on what marks she has just given.
 B. Bill thinks reports are easier to write than narrative texts.
 C. Bill has never had enough imagination to write narrative texts.
 D. Some students make mistakes not paying attention to the exam questions.
 E. Toni thinks some students don’t write a plan for their report.
 F. Toni’s students normally check each other’s reports.
 G. It’s not a good idea to include your spelling mistakes to your checklists.

Ответ:
Утверждение A B C D E F G
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